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No BF XTEEH—F
1 13:50 BAR(E>Y) 3 vs 1 TS5V IL(HE)
2 13:59 ALY (8) 0 vs 5 AT 52K (IR)
3 14:08 HEXR(E>Y) vs 2 KAV (R)
4 14:17 TS5T)L () 3 vs 0 A5 R(IR)
5 14:26 BER(EVY) 2 vs 4 AT 52K (IR)
6 14:35 TS5V (E) 5 vs 1 KA (&)
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HEREE | 1450 | )= 141 (&) vs 3 =461 (E>9)
R | 1458 |(U—=T261 (B)| O vs 2 =360 (FR)
SRIRTEE]  15:08 TS5T)L(F) 2 vs 1 FAY(R)
REE | 1516 BER(EVY) 5 vs 3 AT 52K (IR)
Bl &£ (15:30~)
i ————— T5T)L (&)
I 1
T 3
| — A& (EL) & »
2] 5 o0
__1.= 3 BHARE>VY)
: i ————— KAV (8)
L_—__1I 0
I 2
S (L5 5UR (R)




TUYFFLhy S 1HFEELEDE ERE

AR(EYY) |TF00@) | F1y@® | Y727 A | B | kA | BxA B &
BAE>Y) 3-1 1-2 9-4 3 5 9 -4 4
TS5V IV (&) 1-3 5-1 3-0 6 8 2 +6 1
KLY (&) 2-1 1-5 0-5 3 3 6 -3 3
»ry(aj;_zy a 4-2 0-3 5-0 6 9 5 +4 2




